18”7 & 40” TEMPORARY SIGN POST
HARDWARE GUIDE

.

\ 1/4-20 Hex Nut

Part # 13-02003
(M6-1.0)

» _Aluminum

/ Sign

>

-

1/4-20 x .75 H.H.C.S
Part # 13-01028
- (M6-1.0 x 20mm)

1/4-20 x .75 H.H.C.S.
Part # 13-01028

™

1/4-20 Hex Nut
Part # 13-02003
(M6-1.0)

TurfStone /
Sign

« Green Line
/ Sign

'

d

1/4-20 x 1.25 H.H.C.S
Part # 13-01037
(M6-1.0 x 30mm)

Part Number/Item Description

10418 18” Temporary Sign Post
10400 40” Temporary Sign Post

5 m””Aﬂﬂ ggflgr'\;:o;ﬁsi,c lg\:\il:e 50613 USA

G F zovimanvas Phons: 319:266.2638 PREPARED OCTOBER 2012

Fax: 319.266.9627




STANDARD <252 v 18”7 TEMPORARY SIGN POST
12”7 X 12” ALUMINUM SIGN

Key Number/Part Number/Iltem Description/Quantity

1 10418 18” Temporary Sign Post 1
2 12” x 12” Aluminum Sign 1
3 13-01028  1/4-20 x .75 H.H.C.S. (M6-1.0 x 20mm) 2
4 13-02003  1/4-20 Hex Nut (M6-1.0) 2

PREPARED OCTOBER 2012




STANDARD <252 o 18”7 TEMPORARY SIGN POST
12” X 12” GREEN LINE SIGN

Key Number/Part Number/Item Description/Quantity

1 10418 18” Temporary Sign Post 1
2 12” x 12" Green Line Information Sign 1
3 13-01037  1/4-20 x 1.25 H.H.C.S. (M6-1.0 x 30mm) 2
4 13-02003  1/4-20 Hex Nut (M6-1.0) 2

PREPARED OCTOBER 2012




STANDARD <252 o 18”7 TEMPORARY SIGN POST
97 x 12” TURFSTONE SIGN

Key Number/Part Number/Item Description/Quantity

1 10418 18” Temporary Sign Post 1
2 9” x 12" TurfStone Sign 1
3 13-01028  1/4-20 x .75 H.H.C.S. 2

PREPARED OCTOBER 2012




STANDARD <252 o 40” TEMPORARY SIGN POST
12” x 12” ALUMINUM SIGN

Key Number/Part Number/Item Description/Quantity

1 10400 40” Temporary Sign Post 1
2 12”7 x 12" Aluminum Sign 1
3 13-01028  1/4-20 x .75 H.H.C.S. (M6-1.0 x 20mm) 2
4 13-02003  1/4-20 Hex Nut (M6-1.0) 2

PREPARED OCTOBER 2012




STANDARD <252 o 40” TEMPORARY SIGN POST
12” x 12” GREEN LINE SIGN

Key Number/Part Number/Item Description/Quantity

1 10400 40" Temporary Sign Post

12” x 12” Green Line Information Sign
13-01037  1/4-20 x 1.25 H.H.C.S. (M6-1.0 x 30mm)
13-02003  1/4-20 Hex Nut (M6-1.0)

AN OWON
NN — —

PREPARED OCTOBER 2012




STANDARD <252 o 40” TEMPORARY SIGN POST
97 x 12” TURFSTONE SIGN

Key Number/Part Number/Item Description/Quantity

1 10400 40” Temporary Sign Post 1
2 9” x 12" TurfStone Sign 1
3 13-01028  1/4-20 x .75 H.H.C.S. 2

PREPARED OCTOBER 2012




24” & 36” PERMANENT SIGN POST
HARDWARE GUIDE

/
. \ 1/4-20 x 2.25 H.H.C.S
Part # 13-01030 8
/
: 6x8
/ TurfStone
9x12 Sign
!

\ 1/4-20 x 2.25 H.H.C.S

Part # 13-01030

e

*24” Permanent

/ Sign Post Only

1/4-20 Hex Nut
Part # 13-02003

(M6-1.0) \

TurfStone
Sign
L

-

12x12 12x12
Aluminum Green Line
Sign Sign

\ 1/4-20 Hex Nut

Part # 13-02003
(M6-1.0)

e

1/4-20 x 2.25 H.H.C.S
Part # 13-01030
(M6-1.0 x 60mm)

1/4-20 x 2.50 H.H.C.S
Part # 13-01072
(M6-1.0 x 65mm)

L L

Part Number/Item Description

10424 24" Permanent Sign Post
10436 36” Permanent Sign Post

STANOARLD 30 Prive o415 usa
edar ralls, lowa
BOLF s b 51550565 PREPARED OCTOBER 2012

Fax: 319.266.9627




STANDARD 5. 24” PERMANENT SIGN POST
9~ x 12” TURFSTONE SIGN

Key Number/Part Number/Item Description/Quantity

1 10424 24" Permanent Sign Post 1
2 9” x 12" TurfStone Sign 1
3 13-01030  1/4-20 x 2.25 H.H.C.S. 2

PREPARED OCTOBER 2012




STANDARD 5. 24” PERMANENT SIGN POST
6” x 8” TURFSTONE SIGN

-

Key Number/Part Number/Item Description/Quantity

1 10424 24" Permanent Sign Post 1
2 6"x 8” TurfStone Sign 1
3 13-01030  1/4-20 x 2.25 H.H.C.S. 2

PREPARED OCTOBER 2012




STANDARD 5. 24” PERMANENT SIGN POST
12” x 12” ALUMINUM SIGN

Key Number/Part Number/Item Description/Quantity

1 10424 24" Permanent Sign Post 1
2 12”7 x 12” Aluminum Sign 1
3 13-01030  1/4-20 x 2.25 H.H.C.S. (M6-1.0 x 60mm) 2
4 13-02003  1/4-20 Hex Nut (M6-1.0) 2

PREPARED OCTOBER 2012




STANDARD 5. 24” PERMANENT SIGN POST
12” x 12” GREEN LINE SIGN

Key Number/Part Number/Iltem Description/Quantity

1 10424 24" Permanent Sign Post 1
2 12” x 12” Green Line Information Sign 1
3 13-01072  1/4-20 x 2.50 H.H.C.S. (M6-1.0 x 65mm) 2
4 13-02003  1/4-20 Hex Nut (M6-1.0) 2

PREPARED OCTOBER 2012




igz/vmm'ﬂggggg;q,g;:,gg;ggm s 36”7 PERMANENT SIGN POST
P rocsisassse 9”7 x 12”7 TURFSTONE SIGN

X

Key Number/Part Number/Iltem Description/Quantity

1 10436 36" Permanent Sign Post 1
2 9” x 12" TurfStone Sign 1
3 13-01030  1/4-20 x 2.25 H.H.C.S. 2

PREPARED OCTOBER 2012




igz/vmm'ﬂgggggf;,?g;;g;ggm s 36”7 PERMANENT SIGN POST
P rocsisassse 127 x 12”7 ALUMINUM SIGN

%

Key Number/Part Number/Iltem Description/Quantity

1 10436 36" Permanent Sign Post 1
2 127 x 12” Aluminum Sign 1
3 13-01030  1/4-20 x 2.25 H.H.C.S. (M6-1.0 x60mm) 2
4 13-02003  1/4-20 Hex Nut (M6-1.0) 2

PREPARED OCTOBER 2012




igz/vmm'ﬂggggg;q,g;:,gggggm s 36”7 PERMANENT SIGN POST
P rocsisassse 12”7 x 12”7 GREEN LINE SIGN

>

Key Number/Part Number/Iltem Description/Quantity

1 10436 36" Permanent Sign Post 1
2 12” x 12” Greenline Information Sign 1
3 13-01072  1/4-20 x 2.50 H.H.C.S. (M6-1.0 x65mm) 2
4 13-02003  1/4-20 Hex Nut (M6-1.0) 2

PREPARED OCTOBER 2012




26” & 36” TURFSTONE TEE SIGN POST
HARDWARE GUIDE
(VERTICAL OR HORIZONTAL MOUNT)

1/4-20 Hex Nut
Part # 13-02003

Sign Bracket

Part # 13-01034

TurfStone
Sign

Part Number/Item Description

65226 26" TurfStone Tee Sign Post
65236 36" TurfStone Tee Sign Post

5 m””Aﬂﬂ ggflgrh;%rl?sif lg\:\il:e 50613 USA

F ——————— Pphone: 319.266.2638
EHL ®@ LAMPANYAY [ox: 319.266.9627

9x12 Sign Bracket
Adaptor

1/4-20 x 50 HH.C.S Part#65314

26" TurfStone
Tee Sign Post

1/4-20 x .50 HH.C.S

Part # 13-01034 \

Sign Bracket Y
Part # 65313

36" TurfStone

/Tee Sign Post

d

6x8
TurfStone

Sign K_._V/

PREPARED OCTOBER 2012




i ;AL”FC@”:ﬂZ _ :(’:Eégé}}?g: ;22;2123613 USA 2 6,, TURF S TON E
s TEE SIGN POST WITH 6x8
TURFSTONE SIGN

(VERTICAL OR HORIZONTAL MOUNT)

Key Number/Part Number/Iltem Description/Quantity

1 65226 26" TurfStone Tee Sign Post 1
2 6" x 8” TurfStone Sign 1
3 13-01034  1/4-20 x .50 H.H.C.S. 4
4 65313 Sign Bracket 1

PREPARED OCTOBER 2012




i ;AL”FC@”:ﬂZ _ :(’:Eégé}}?g: ;22;2123613 USA 2 6,, TURF S TON E
s TEE SIGN POST WITH 9x12
TURFSTONE SIGN

(VERTICAL OR HORIZONTAL MOUNT)

2
Key Number/Part Number/Iltem Description/Quantity

1 65226 26" TurfStone Tee Sign Post 1
2 9” x 12" TurfStone Sign 1
3 13-01034  1/4-20 x .50 H.H.C.S. 6
4 13-02003  1/4-20 Hex Nut 2
5 65313 Sign Bracket 1
6 65314 9x12 Sign Bracket Adapter 1

PREPARED OCTOBER 2012




STANDARLD 5./ 2 soers usa 36” TURFSTONE
UL s it TEE SIGN POST WITH 6x8
TURFSTONE SIGN

(VERTICAL OR HORIZONTAL MOUNT)

Key Number/Part Number/Item Description/Quantity

1 65236 36" TurfStone Tee Console Kit 1
2 6" x 8” TurfStone Sign 1
3 13-01034  1/4-20 x .50 H.H.C.S. 4
4 65313 Sign Bracket 1

PREPARED OCTOBER 2012




STANDARLD 5./ 2 soers usa 36” TURFSTONE
UL s it TEE SIGN POST WITH 9x12
TURFSTONE SIGN

(VERTICAL OR HORIZONTAL MOUNT)

Key Number/Part Number/Item Description/Quantity

1 65236 36" TurfStone Tee Console Kit 1
2 9” x 12" TurfStone Sign 1
3 13-01034  1/4-20 x .50 H.H.C.S. 6
4 13-02003  1/4-20 Hex Nut 2
5 65313 Sign Bracket 1
6 65314 9x12 Sign Bracket Adaptor 1

PREPARED OCTOBER 2012




36” TURFSTONE TEE CONSOLE KIT
HARDWARE GUIDE
(VERTICAL OR HORIZONTAL MOUNT)

1/4-20 x .50 H.H.C.S
Part # 13 01034

"‘ﬁ

Sign Bracket

Part # 65313 \

6x8
TurfStone
Sign

1/4-20 Hex Nut
Part # 13 02003

Sign Bracket
9x12 Slgn Part # 65313

Bracket Adaptor
Part # 65314

Part Number/Item Description
65204 36" TurfStone Tee Console Kit 9)(1 2
1/4-20 x .50 H.H.C.S
Tu rf_Stone Part # 13-01034
Sign

5 m””Aﬂﬂ ggﬁgr'\;?(:rﬁs'c lg\:\,l:e 50613 USA

EHLFL'HMFAIVY Phone: 319.266.2638 PREPARED OCTOBER 2012

Fax: 319.266.9627




5’”””A” %Eég;ﬁ}?g&g?ézgg6l3 USA 36,, TURFS TONE TEE
GOLF zzzams Fax: 319.266.9627 CONSOLE K’T W’TH
WITH 6x8 TURFSTONE SIGN
(VERTICAL OR HORIZONTAL MOUNT)

Key Number/Part Number/Item Description/Quantity

1 65204 36" TurfStone Tee Console Kit 1
2 6" x 8” TurfStone Sign 1
3 13-01034  1/4-20 x .50 H.H.C.S. 4
4 65313 Sign Bracket 1

PREPARED OCTOBER 2012




STANDARL 20\ 2 soers usa 36” TURFSTONE TEE
GOLF zwravs Fax: 319.266.9627 CONSOLE K’T W’TH
WITH 9x12 TURFSTONE SIGN

(VERTICAL OR HORIZONTAL MOUNT)

Key Number/Part Number/Item Description/Quantity

1 65204 36" TurfStone Tee Console Kit 1
2 9” x 12" TurfStone Sign 1
3 13-01034  1/4-20 x .50 H.H.C.S. 6
4 13-02003  1/4-20 Hex Nut 2
5 65313 Sign Bracket 1
6 65314 9x12 Sign Bracket Adaptor 1

PREPARED OCTOBER 2012




58”7 PERMANENT SIGN POST
HARDWARE GUIDE

12x12 12x12 I9x12
Aluminum Green Line TurfStone
Sign Sign Sign
f’ i 9 ) ? o
. . -~
N ~
. . o
. ~
- L ] /
N =
- * /
\ \ 1/4;525 H.H.C.S
1/4-20 Hex Nut 1/4-20 Hex Nut Part # 13-01030
Part # 13-02003 Part # 13-02003
/ (M6-1.0) (M6-1.0)
Seh, o oy,

1/4-20 x 2.25 HH.C.S
Part # 13-01030
(M6-1.0 x 60mm)

1/4-20 x 2.50 H.H.C.S
Part # 13-01072
(M6-1.0 x 65mm)

Part Number/Item Description
10458 58” Permanent Sign Post

STANOARLD 30 Prive o415 usa
edar ralls, lowa
BOLF s b 51550565 PREPARED OCTOBER 2012

Fax: 319.266.9627




igz/vm!ﬂﬂggggg;gzg;gggggm ss 58”7 PERMANENT SIGN POST
P rocsisassse 127 x 12”7 ALUMINUM SIGN

Key Number/Part Number/Item Description/Quantity

1 10458 58” Permanent Sign Post 1

2 12” x 12” Aluminum Sign 1-4
3 13-01030  1/4-20 x 2.25 H.H.C.S. (M6-1.0 x 60mm)  2-8
4 13-02003  1/4-20 Hex Nut (M6-1.0) 2-8

PREPARED OCTOBER 2012




igz/vm!ﬂﬂggggg;gzg;gggggm ss 58”7 PERMANENT SIGN POST
P rocsisassse 12”7 x 12”7 GREEN LINE SIGN

Key Number/Part Number/Item Description/Quantity

1 10458 58” Permanent Sign Post 1

2 12” x 12" Green Line Information Sign 1-4
3 13-01072  1/4-20 x 2.50 H.H.C.S. (M6-1.0 x 65mm)  2-8
4 13-02003  1/4-20 Hex Nut (M6-1.0) 2-8

PREPARED OCTOBER 2012




igz/vmm'ﬂggggg;q,g;:,gg;ggm ss 58”7 PERMANENT SIGN POST
P rocsisassse 9”7 x 12”7 TURFSTONE SIGN

Key Number/Part Number/Item Description/Quantity

1 10458 58” Permanent Sign Post 1
2 9” x 12" TurfStone Sign 1-4
3 13-01030  1/4-20 x 2.25 H.H.C.S. 2-8

PREPARED OCTOBER 2012




HORIZONTAL & VERTICAL TEMPORARY SIGN POST
HARDWARE GUIDE
(VERTICAL OR HORIZONTAL MOUNT)

1/4-20 x .75 HH.C.S
Part # 13-01028 6x8

TurfStone
. 1/4-20 X .75 HH.C.S
Sign Part # 13-01028

1/4-20 x .75 HH.C.S
Part # 13-01028

/

I9x12
TurfStone
Sign

9x12
TurfStone
Sign

Part Number/Item Description

10600 Vertical Temporary Sign Post
10625 Horizontal Temporary Sign Post

STANOARD 3.5 v sosis usa
BOILF e Sl 02 20 PREPARED OCTOBER 2012

Fax: 319.266.9627




ZIINDARLT (<o i s us HORIZONTAL
TEMPORARY SIGN POST
97 x 12”7 TURFSTONE SIGN

Key Number/Part Number/Iltem Description/Quantity

1 10625 Horizontal Temporary Sign Post 1
2 9” x 12" TurfStone Sign 1
3 13-01028  1/4-20 x .75 H.H.C.S. 2

PREPARED OCTOBER 2012




i Z’””Aﬂﬂ %Eﬁg”ﬁ%,c ;g;éiggus USA VE R T’ CA L
TEMPORARY SIGN POST
6” x 8” TURFSTONE SIGN

Key Number/Part Number/Item Description/Quantity

1 10600 Vertical Temporary Sign Post 1
2 6" x 8” TurfStone Sign 1
3 13-01028  1/4-20 x .75 H.H.C.S. 2

PREPARED OCTOBER 2012




i Z’””Aﬂﬂ %Eﬁg”ﬁ%f 5;2236'3 USA VE R T’ CA L
TEMPORARY SIGN POST
97 x 12”7 TURFSTONE SIGN

-l

™

Key Number/Part Number/Item Description/Quantity

1 10600 Vertical Temporary Sign Post 1
2 9” x 12" TurfStone Sign 1
3 13-01028  1/4-20 x .75 H.H.C.S. 2

PREPARED OCTOBER 2012




	18T_customer
	2012_18T_12_AL
	2012_18T_12_GL
	2012_18T_9_TS
	2012_40T_12_AL
	2012_40T_12_GL
	2012_40T_9_TS
	24_36perm_all.pdf
	24T_customer
	2012_24_9_TS
	2012_24_6_TS
	2012_24_12_AL
	2012_24_12_GL
	2012_36_9_TS
	2012_36_12_AL
	2012_36_12_GL

	26_36ts_tee_all.pdf
	26T_customer
	2012_26T_6_TS
	2012_26T_9_TS
	2012_36T_6_TS
	2012_36T_9_TS

	36_cons_all.pdf
	36T_customer
	2012_36C_6_TS
	2012_36C_9_TS

	58_perm_all.pdf
	58P_customer
	2012_58_12_AL
	2012_58_12_GL
	2012_58_9_TS

	h_v_temp_all.pdf
	Temp_V_H_customer
	2012_H_9_TS
	2012_V_6_TS
	2012_V_9_TS


